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D (2xy?)? = 4x2y* @ (-3x)% = 9x?
® (a’*b)? = a*b? @(—3(11)2)2 = —9ab

® (-4a*)? = 164®

@ (-3ab?)? = 9ab*
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3. x+2y-7)+(x-2y-3)=ax+by+cLd™,a+b+c2 G2

@+ @1 o @ 2 ® 5

(5x+2y-7)+ (x—2y-3)
=0x+2y-7+x-2y—3

= 6x—-10

wEtA g =6,b =0, c = —10°| B2
a+b+c=-40]tt
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(ab®)? x a®b + (ab)? = a*b* x a®b x ok a’b?







(3x = 2)2 — (2x + 2)(=2x + 5) = AE}FH?

@13x2—18x—6 @ 10x2-8x+9
® 10x%2 - 16x-11 @ 10x2-8x+19

® 13x2-12x+19

(3x=2)2 = (2x+2)(=2x+5)= (9x2—12x+4) — (—4x%+6x+10)=
13x% - 18x - 6
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x=-2y+6 4o, 3x -4y + 15 xof T AoE YEpH 227

® 5x @ 6x ® 5x-3
@ 5x-9 @5)6—11
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x=-2y+6 2y = AsIH
_ —x+6
YT

o] A& 3x -4y + 1°f HY5HA

3x—4(_x2+6>+1:3x+2x—12+1

=bx—-11
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x2-2x-35

@ (x+7)(x=5)

2+6

@ (x-2)(x-3)

® (x+3)(x+4)=x>+x+12
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9. (x+y+3)(x+y-2)=A2+By?+Cxy+x+y-6°]4

A+ B+CO FHe? (%A, B, C =A%)

® -12 @ -6 ® 0 (22)4

B

x+y=12 A5
(t+3)(t-2)=12+1t-6
t=x+yE HYstd
(x+)?+ (x+y) -6
=2 +2xy+y* +x+y-6
A=1,B=1,C=2

. A+B+C=4




(12a3b — 18a3b?) + 6ab — 2a(6ab — 4a)

® -15ab + 10a @ -15a2b + 10a
® -15ab + 10a? @ -15ab? + 1042
(@)—15a2b + 104>

(12ab — 18ab?)+6ab — 2a(6ab — 4a)
= 2a® — 3a*b - 12a*b + 8a*
= —15a%b + 10a®




